FLAT TABLE R,

FLAT TABLE.

FXTW Series Registration of a Design

INDEX %

OVEIVIGW * ¢+ s et eeteeoctereenetentenueentsanteancsanes
Explanation, Example of Use, Installation Method - - -
MOde' Code NO. .....................................

=X

Specifications, Guide to be used, Spare Parts Code---697 %
Product Mass, Theoretical Thrust ----«--c-eeeeeeeee 698 E
Structure and Principal Components:-«-«-«-c-cxc---- 699
Main Body / Load Instllation Method - -« -«-«-c-v--- 700 -
Note for Usage « -« corrrrrrrreatararneneneniiian 701
Allowable Load and Allowable Moment -+« - 702, 703
Theoretical Displacement against Bending Moment - - - 704, 705
OUtSide DimenSiOnS .......................... 706~72‘|
Switch Installation, Direction of Movement by Pressure Port - - - - 722
Custom Made ....................................... 723

693



FLAT TABLE

FXTW Series

Slender Body With Multiple Features!

Linear Guide

Stroke Adjustment Mechanism }—

The stroke is adjustable by up to - 5 mm at each
end (- 10 mm in total).

Replacement with a commercially-available
hexagon head bolt allows an intermediate stroke.
(Replacement may not be possible depending on
the stroke.)

‘ Positioning Pin Holes

Pin holes for ensuring the
mounting/removing repeatability
are made in the table top side
and the body bottom side.

=X

FLAT TABLE

Mounting Surface }—

10 to 12 threaded holes for mounting
provided in each of the front and top sides of
the table improve the degree of freedom of
mounting.

694

High Accuracy, High Rigidity
Linear Guide is built-in.

Linear Guide (light Preload) ‘

(Circulating infinite linear mation type)
A high-accuracy, high-rigidity
stainless steel linear guide is
employed for the sliding part.

| Rear Side Piping

Piping ports are gathered
on the rear side.

4{ Rubber Stopper

Absorbs the impact noise and
minimizes the distance from the rod
to reduce the moment.

| Countermeasure for Copper Parts
Copper parts are not used.




FXTW

FLAT TABLE

Summary of The FLAT TABLE

This FXTW Series integrates an air cylinder, linear guide and table into an ultimately thin and compact unit.
Generally, this type of actuator is subject to a large moment applied to the guide due to cylinder thrust.

With this taken into consideration, the actuator employs an ideal wide linear guide (circulating infinite linear
motion type) capable of ensuring accuracy and rigidity.

B Application Examples : FLAT TABLE

Inspection Terminal Movement Centering of Parts

Up-Down Movement of Multiple Chucks

=
X
T
w

FLAT TABLE

EMAIN BODY INSTALLATION  EIMOUNTING

(Bolt as shown in the figure are not supplied (Bolt as shown in the figure are not supplied
with products) with products)
Top Mounting Front Mounting Top Mounting

(Thru Hole used)

695



=X

FLAT TABLE

Custom Made
Grease Converted Product
723 Page

Custom Made
With Helical Insert
723 Page

Rigidity Up
PSL, PSU Series
447,479 Page

Model Code Example

FXTWS-SD10-30-RB12LA

Series Name! Cable Length
NoCode| Tm
LA 3m
Magnet Bore Sizei @Number of Switches
No Code None 8 ¢ 8 1 1
S |With Magnet 10 @10 2 2
The magnet will become 15 15
necessary when you .
install the switch 20 @20 Switch
No Code None
RB1 Straight : With
~ 2 Wires ;
RC1 Angle DC12~24V Reed Rwitch \nE\_‘gﬁ‘%or
RB2 | Straight 2 Wires Without
RC2 Angle DC12~24V Reed Rwitch \nE\éﬂgor
Mounting@—— RB4 | Straight : | With
g BT | 610~pay [2 Wires SOl jngicator
sD | Standard RC4 | Angle State Switeh| " [ight
RB5 | Straight 3 Wires Solig| ot
Push Side Adjust Bolt RC5 Angle DC5~24V |5tate Switcn \nfﬁ%gﬁor
Direction Of Cable Outlet
RB- - - -Straight Outlet Cable ~ RC- - - - Angle Outlet Cable
[——— é
For details = Page 1066, 1067
Pull Side Adjust Bolt @Stroke
. Standard Stroke (mm)
- Bore Size
GT Symmetric 30 45 60 80 100
¢ 8 (] (] (] — —
Push Side Adjust Bolt ¢-| 0 . . . _ _
Adiust Bot 015 | ° D ° °
920 [ (] (] (] (]
Stroke Adjustment
The adjustable stroke range is 5mm on each end (10mm total) with
the adjuster bolts as standard.
Intermediate Stroke
5mm step intermediate strokes can be set by lengthening the adjuster
bolt on the push side of the standard stroke cylinder.

BMChanges in FXTW from FXT

For ordering, every 5mm stroke can be specified.
The total length of the cylinder is the same as that of the longer stroke
cylinder for standard strokes.

Changes: Color of the end plate, table and piping block changed from black to white.
Chamfer added and height change made to the adjustment bolt side of the piping block.
Chamfer added to the adjustment bolt side of the end plate.

The appearance and dimensions other than the above are the same, which offers interchangeability

in terms of mounting of the actuator body and load.

696



FXTW

FLAT TABLE

SPECIFICATIONS

Bore Size @8mm @ 10mm @ 15mm @»20mm
Rod Diameter @3mm o4mm @8mm @ 10mm
Maximum Service Stroke 60mm 60mm 100mm 100mm
*  Maximum Load Mass 1.5kg 2kg 4kg 8kg
Piping Diameter M5x0.8
Guide Mechanism Miniature Linear Guide
Type of Operation Double Acting
Fluid Air
Maximum Operating Pressure 0.7 MPa
Minimum Operating Pressure 0.2 MPa
Pressure 1.05MPa
Operating Temperature 5~60T
Operating Speed 100~300mn/s| 80~300mn/s 50~300mn/s
Lubrication Not required
Cushioning Rubber Stopper
Range of Adjustable Stroke —5mm at both ends

*at 200mm/sec speed

THE TYPE OF LINEAR GUIDE

Model Type
FXTW 8 Wide Type Rail Size 7
FXTW10 Wide Type Rail Size 9
FXTW15 Wide Type Rail Size 12
FXTW20 Wide Type Rail Size 15

OPTIONAL PARTS CODES

) . Solid State Switch(2 Wires, with Indicator Light) ~ Solid State Switch(3 Wires, with Indicator Light) F
Name Switch Fixture Straight Outlet Cable Angle Outlet Cable Straight Outlet Cable Angle Outlet Cable X
[PaRTS cone| | | [ BERXTW) || |[RBIGXTW) | | [Re1(EXTW) || | [ RB2(FXTW) | | [ Re2tFxTW) | | [
Note Screw, Nut Cable Length:Tm Cable Length:Tm Cable Length:Tm Cable Length:Tm W
PARTS GODE [RBILA(FXTW)| | [RCTILAGFXTW)] | | [RB2LA(FXTW) | [RCELAGFXTW)]
Note Cable Length:3m Cable Length:3m Cable Length:3m Cable Length:3m E
o
<
'_
[
<
Content / d
- » )~
with fixture ‘:J /vvith fixture with fixture = with fixture

Solid State Switch(2 Wires, with Indicator Light)

Solid State Switch(3 Wires, with Indicator Light)

Straight Outlet Cable Angle Outlet Cable

@®RB, RC Switch

Straight Outlet Cable Angle Outlet Cable

Conventional RG1,RG2 switch | [RB4(FXTW) | | [RC4(FXTW) | | | [ RBS(EXTW) | | [ RCE(FXTW) |
Car_1 be replaced to RB,RC Cable Length:1m | Cable Length:1m Cable Length:1m | Cable Length:1m
switch. [RB4LA(FXTW)| | [RCALAGFXTW)| | | [RBBLA(FXTW)| | [RCBLA(FXTW)]

Comparison with old type

Cable Length:3m

Cable Length:3m

Cable Length:3m

Cable Length:3m

Old type | Equivalent Current Type
RG1 RB1, RC1
RB2, RC2 o &
RG2 RB4, RC4 “
RB5, RC5 with fixture with fixture with fixture with fixture

697



=X

FLAT TABLE

PRODUCT MASS

@Cylinder Unit: g
Modsl Stroke  (mm) Magnet Additional Mass
30 45 60 80 100 (FXTWS)
FXTW 8 196 231 266 e e 2
FXTW10 390 405 420 — — 3
FXTW15 857 880 903 933 963 6
FXTW20 1230 1378 1533 1736 1939 7
NOTE: SD, GT are both the same mass.
@Switch Unit: g METHOD TO CALCULATE THE MASS
Switch Type NS5 Ex. FXTWS—SD8—30—-RB12LA
RB1, RB2, RB4, RB5 15 )
RC1, RC2, RC4. RC5 Basic Mass: -« rorereeeeees 196g
RB1LA, RB2LA, RBALA, RB5LA Additional Mags:««---------- - 28
35 Switche--reeerrereees 35%x2=70g
RC1LA, RC2LA, RC4LA, RC5LA
196+2+35%x2=268g
THEORETICAL THRUST Unit: N
Bore Size Working Operating Pressure  MPa
(mm) Direction 0.2 0.3 0.4 0.5 06 0.7
Push 10 15 20 25 30 35
¢ 8 Pull 85 13 17 22 26 30
Push 16 24 31 39 47 55
¢10 Pull 13 20 26 33 40 46
o15 Push 35 53 71 88 106 123
Pull 25 38 51 63 76 88
20 Push 63 94 126 157 188 220
Pull 47 71 94 118 141 165
1MPa=10.2kgf/cm?
1N=0.102kef

698



FXTW

FLAT TABLE
STRUCTURE AND PRINCIPAL COMPONENTS
FXTW8
\H\
)\ \/
H =15 [
ﬁ
No. Name Material Remarks
EXTW10 1 Body Aluminum Alloy | Alumite
2 Table Aluminum Alloy | Alumite
@ @ D 3 End Plate | Aluminum Alloy Alumi’te
4 Rod Stainless Steel | Gabon Steel for ¢15
a%%w%% ? 5 Piston Aluminum Alloy
hinil T \mj lISS 6 Piston B |Staless Steel
i - 7 Rod Cover | Aluminum Alloy
= : ! —_ 8 | Rod Seal Bush | Auminum Aloy
- N =, 9 | EndCover |AuminumAloy| Alumite
10 | Piping Block |AuminumAloy|  Alumite
11 | Plate Washer | Stainless Steel
12 | Linear Guide |Stainless Steel
13 Rod Seal NBR
FXTW15 14 O-ring NBR
15 Circlip Steel Nickel Plating
16 | Piston Seal NBR F
K%%%%% Y % ? ? 17| Wear Ring Resin X
18 Magnet Magnetic Material T
\ﬂ% 19| Oring NBR W
W *‘jﬁer 20 O-ring NBR
{HE‘E” T 21 | Adjust Bolt |Stainless Steel w
v 22| Lock Nut Steel | NickelPlating | @
- o | 23 | Cushoning Rubber | Ursthane Rubber li:
24 Nut Steel | NikelPlating |
] 25| SnapRing | Steel T
26 U Nut Steel

Note: Part of copper type is not used.
FXTW20

These components cannot

be disassembled.

SASNAE T T s

& H H 5 Conventional function will be
lost if disassembled.

—J ] 1w

{hhb dd

N

699



BODY INSTALLATION

Top Mounting(Thru Hole used)

T n H A=
— i 15
— ;
- [ e ifé
i T -
LI |
Model Bolt Size Thru Hole Length | Fastening Torque
L(mm) N-m

FXTW 8 M4 2 2.5
FXTW10 M4 4 2.5
FXTW15 M5 6.5 5.1
FXTW20 M6 5 8.6

MOUNTING ON TABLE

=X

Front Mounting Top Mounting
Adjust Bolt for
w Stroke Adjustment
o 1M (mEN
F 1 -
N i = I !
s e
= 909 o
L
: Screw Depth | Fastening Torque A Screw Depth | Fastening Torque
Model Bolt Size L(mm) N-m Model Bolt Size L(mm) N-m
FXTW 8 M4x0.7 6 25 FXTW 8 M4x0.7 4 2.5
FXTW10 M4x0.7 8 25 FXTW10 M4x0.7 4 2.5
FXTW15 M5%0.8 10 5.1 FXTW15 M5X0.8 6 5.1
FXTW20 MBX1 12 8.6 FXTW20 MBX1 10 8.6

Note: Mounting the load in such a way that the adjustment bolt
is covered may make it difficult to adjust the stroke.
Ensure that it is not covered.

700



PRECAUTIONS FOR DESIGN AND USE

A\ Caution

‘ Moment due to Cylinder Thrust in Offset Pushing ‘

If the mounted load or workpiece is pushed with its
center offset from the linear guide in the middle of a
stroke as shown in the figure below, a large moment
is generated due to the thrust of the cylinder itself.
Stationary Moment Value @@ page 703

@Pitching Moment
| Cylinder Thrust

' Center of
[~ Cushion Rubber Adjust Bolt Hit Area
—
Moment mi==is it
( Tk = Rod Center

Moment = Cylinder Thrust x L (Offset)

‘ Accuracy of Assembly Dimensions ‘

When high accuracy of assembly dimensions of the
product is required, use the following products.

PICO TABLE(PPT) w39 page

PICO UNIT(PPU) & 313 page

PICO SLIDER(PSL, PSU) @447, 479 page

Rigidity of Mounting (Securing Part)

Insufficient rigidity of the body securing method and
mounting may hinder realization of the high rigidity
and high accuracy of the flat table.

When designing, give sufficient consideration to the
rigidity of equipment such as the mounting plate.

External Force

If any external force is applied to the table, ensure
that it is applied to the center of the linear guide as
much as possible. If the external force is applied at an
offset point, check the allowable moment value.
Center of Linear Guide @ page 702

Allowable Moment s page 702

Linear Guide Lubrication

Lubricant is enclosed in the linear guide in advance but the
performance will be deteriorated by a long operating time,
operating conditions, environment, etc. Regular lubrication
is necessary. Using without lubrication may accelerate wear
of the rolling part or cause earlier end of the service life.
The timing of regreasing depends on the operating
conditions and environment. As a rule, regrease at intervals
of travel of 100 km or one month. After wiping the old
grease off, supply lithium soap-based grease to the linear
guide. Supplying a different type of grease may cause
malfunction or failure due to lubrication performance
degradation or chemical change. Turbine oil can be applied
or drop-fed for use. Do not use spindle oil or machine oil
because they adversely affect the packing.

FXTW

FLAT TABLE
@Yawing Moment
FYory &
@
Moment %
== *_‘Z [= = Rod Center
—
— Center of
[ Cylinder Thrust Hit Area

Mounting Surface Accuracy

Ensure that the mating mounting surface of a
machine, equipment, jig, etc. is a flat surface
machined to high precision without unevenness or
projections and mounting is correct in order to
achieve stable, high-accuracy linear motion.

Low mounting surface accuracy or incorrect mounting
may cause looseness, increase the rolling resistance
or adversely affect the service life.

Mounting of Load on Table Top Side

Mounting the load in such a way that the adjustment
bolt integrated in the table is covered makes it
difficult to adjust the stroke. Ensure that the
adjustment bolt is not covered. @ page 700

Positioning Holes

The positioning holes are intended for ensuring the
repeatability of the mounting positions. Accordingly, the
positioning holes in the table top side and the body
bottom side do not necessarily share the same centers.

Rolling Feel in Linear Guide

When the table is moved by hand, rolling of balls inside
the linear guide may cause slight feel of operation
discontinuity or difference in the rolling resistance
between products. This is due to preload of the linear
guide and does not affect the performance.

Positioning Pin Holes in Table and Body

Press-fitting a pin into a positioning pin hole may cause
failure due to deformation of or damage to the rolling
surface of the linear guide or excessive load applied
during press-fitting. Ensure that the fit allows for a
clearance between the hole and the pin (clearance fit:
tolerance class position g max.).

=
X
T
w

FLAT TABLE

701



IMALLOWABLE LOAD MASS AND ALLOWABLE LOAD AND ALLOWABLE MOMENT =—
/\ Caution

Make sure that the load applied is within the allowable range before use.
Use in operating conditions beyond the allowable values may adversely affect operation,
accuracy and/or service life, possibly leading to breakdown.

Types of Load | Situation of Actuator | Situation of Load Item to be confirmed
Mounted Load(W) [ Operating  |Continuously Acting|  Basic Static Rated Load, Static Rated Moment, Allowable Inertia Mass
External Force Stopping | Temporarily Acting Basic Static-load Rating, Allowable Static Moment

MDirections of the Moment and the Positions of the Guide Center Line and the Adjust Bolt
The moment directions are classified into three types in accordance with the mounting condition of a load to the actuator.

Pitching Yawing Rolling
Guide Guide Guide
z Center Line Y  Center Point Center Line
Guide
) Center Line
M Mr
[0} P Rolling
x Pitching :‘("gwin
Z Adjust Bolt & j%_
+
X
w j 2
Adjust Bolt
— F=9.8xW NAdiust Bolt
e F=9.8xW
Lp 2y Ly
POSITION OF THE GUIDE AND ADJUST BOLT Unit:m Wike)Mounted load
- - — e T IhB G g):Mounted load mass
)F< Model Guide Center Line Positions 'I[?];gi?dezrﬁ?r? tgf AEE\d?Lrjstmgulljt F(N):Gravity applied on load
X Y z 2p 2y Lp.Ly.Lr(m):Distance between guide center line
T FXTW 8 0.027 | 0.017 | 0.010 0.007 0.022 and center of gravity of mounted load
W EXTW10 | 0.034 | 0.020 | 0.011 0.007 0.027 2p.2y(m):Distance between the center line of
FXTW1S 10039 | 0.025 | 0.015 0010 0.033 S(m):D st?neciublgf aenednacde}rﬁ;rbl'or:; of a loaded
w Ul Wi |
El FXTW20 0.051 | 0.037 | 0.021 0.015 0.048 work and adjust bolt
~ .
K B Allowable mass and Allowable moment in case of a loaded work,
£  Allowable inertia mass

When the actuator is operated with a load mounted. confirm that the following three values are
respectively within the allowable range.

(MDAllowable Load Mass

Unit: kg
Model FXTW8 | FXTW10 | FXTW15 | FXTW20
Allowable Load Mass 1.5 2.0 4.0 8.0

@Allowable Loaded Work Moment

The moment in each direction generated by the gravity acting on a loaded work is calculated by the formulas below. These calculated
values shall not exceed the allowable looded work moment.

(Mounted load moment) : ) ) Allowable Loaded Work Moment (N-m)
=(Gravity applied on load:F)X(Distance between guide center line and Model
center of gravity of mounted load:L) Mp My Mr

=9.8X(Mounted load mass:W)x(Distance between guide center line EXTW 8 0.45 0.45 1.3

- v and center of gravity of mounted load:L) EXTW10 079 088 ER
(Gravity applied on load: F)=9.8X(Mounted load mass: W)
Pitching:-Mp(N-m)=9.8XW(kg)XLp(m) EANIE 16 1.7 45
Yawning:--My(N-m)=9.8XW(kg)XLy(m) FXTW20 3.6 3.4 13

Rolling---Mr(N-m)=9.8XW(kg)XLr(m)

702

Allowable Loaded Work Moment

Unit: N'm

TN-m=0.102kgf'm



FXTW

FLAT TABLE

®Allowable Inertia Mass

When the adjust bolt runs against the stopper support of the body and the actuator stops, a force is
generated due to the inertia of the loaded work. The value of the force varies depnding on the shape of loaded
work. mounting method. mounting position. working pressure. and various other conditions. It is, therefore. very
difficult to obtain uniform allowable values.

Here, the relation among "collision speed contact with a adjust bolt". 'mass of loaded work" and "distance
between the center of gravity of loaded work and adjust bolt position" are theoretically calculated as shown in
the graph below. Refer to this as a criterion for judging the allowable values of a loaded work. The distance S is
the distance between the center of gravity of the loaded work and the adjust bolt. Refer to the figure of rolling
under the title of "Direction of moment and center line position of guide and adjust bolt" on previous page.

FXTW8 FXTW10
1.6 2.4
W 14 L @
R RN
n 12 (]
0 (9]
1.
© 10 \ 1\ g 16 \\\
® o8 \ Velocity ® 12
o \\ 150m/s o Velocity
g 0.6 or less 3 08 150mn/s
b= 04 ~—_| 250m/ £ \ or less
3 N e 3 200m/s
= 02 —] gggwi s 04 250m/s
300mn/s
0 0.1 0.2 0.3 04 0.5 0 0.1 0.2 0.3 04 0.5
Distance S(m) Distance S(m)
FXTW15 FXTW20
5 10
2 a4 2 s
@ @ Velocity
9] 9] S~—_
o g \\ I \\ ———— 1 150m/s F
£ \\ £ \ or less X
3 IS
Velocit
2 2 Som/: 2 4 T
k=t m/s k= 200m/s
Q \\ or less g S W
3 200m/s 3 e — 250m/s
— 250mn/s 300mn/s
= 300mn/s = g
0 0.1 0.2 0.3 04 0.5 0 0.1 0.2 0.3 04 0.5 f_t
Distance S(m) Distance S(m) K
I
NOTE: When stopping the actuator using a external metal stopper a very large shock force is generated. L

Determine allowable load mass to be a value of about 1/5~1/10 of the loaded mass shown in the above graphs.

M Allowable Load and Allowable Moment in case of an External Force(While not Operating)

When an external force is applied temporarily with the actuator stopped at the stroke end and
the like, confirm that the following two values are respectively within the allowable range.

(DExernal Force Value (®External Force Moment
(basic static rated load) (static rated moment)

Note: The arm length of a monent shall be obtained as a Basic Static Rated Lood, Static Rated Moment
distance from the guide center and the point Basic Static Static Rated Moment N-m
where an external force is applied. Model Rated load

. . N Mpo Myo Mro

If an external force is frequently applied,apply the external

force to the guide senter point. FXTW 8 220 2.7 2.7 7.6

If an external force is frequently applied to positions other FXTW10 270 4.4 48 11.6

than the guide center point or the actuator is operated with

an external force applied. refer to the section "Allowable FXTW15 430 86 8.3 238

mass and allowable moment in case of a loaded work” on FXTW20 690 17.7 19.1 68.6

the previous page to determine the load mass. 1N=0.102kef

TN-m=0.102kgf'm

703



INCLINATION OF TABLE BY MOMENT

HRolling
W
2
Mr °
w
C
L5 <
o
Q
c
Guide Center I}
I =
&)

DEFLECTION AT THE TABLE END BY MOMENT

E—/—3a
-©- @

WPitching
Mp
Guide Center
T s
|
=
X FXTW8
Stroke
T __ 010 = 60
W E 0.08 45
~ /
S 006 = {30
w ko) —
@ 8 ooa =
£ B 0.02
= o=
3
e 0 05 1 15 2 25 3
Moment Mp(N-m)
FXTW15
Stroke
0.30
E 025 1%8
£ o200 | — 1 —T—| 60
’ | 45
S a5 — 30
B C— 1 —1
@ 0.0
E’ 0.05 —

704

0O 15 3 45 B8 75 9
Moment Mp(N-m)

0.6

04

0.2

Moment Mp(N-m)

FXTW15
FXTWS
// Ly / FXTW20
0 20 40 60
Moment Mr(N-m)
FXTW10
Stroke
€ o015 60
£ [ |45
30
§ o010 —
5
o
(5]
% 005
a)
o 1 2 3 4 5
Moment Mp(N-m)
FXTW20
Stroke
100
€ 030 — | 80
E — 60
c 020 45
o
B — 30
2 o010 7 —
a
0 4 8 12 18 20



FXTW

FLAT TABLE
HYawing
My
Guide Center
N [‘Q =
i CH
|
[ ]
FXTW8 FXTW10
Stroke Stroke
0.10 0.20
g 0.08 1o E 0.15 ——e0
— 006 4 S 010 | —T |as
o o .
£ 004 L 30 3 T 0 F
o) T R
ooz = 005 X
Jo jo}
=} =} T
0 05 1 15 2 25 3 0 1 2 3 4 5 W
Moment My(N-m) Moment My(N-m)
w
-
o
<
'_
<
EXTW15 FXTW20 T
Stroke Stroke
o5 100 oo
g 0.20 80 g 0.08 . 138
c 015 ] gg c 006 ///_ &
S S e S C—T "1
§ 0.10 == § 0.04 — = 0
% 005 — % o002
[=} [a}
0O 15 3 45 6 75 9 o} 4 8 12 18 20

Moment My(N-m)

Moment My(N-m)

705



DIMENSIONS(mm) FXTW8-—30 BASIC
FXTW(S)—SD8—30
Basic| Stroke
Bore Size
o]
Stroke Adjustment Range — Nl 9
Pull Side- - --5mn — -
Push Side- - - -5mn ol v T T ]
o 'C_O o
74(Total Length of Table)
22 25 20
20 6—M4x0.7depth4
4—M4x0.7depth6 4
6 10 33 298 2 65
a
4 [0}
©°
10 £
o |l
—5 S oS = =
© — f ar BG) ‘ = =
oY & o <L g 2 9
< @S% mg ;; o) 8§mm;‘5
< €} © < Xz ° P E v g B8 o
5 nCull 5 |Y|= 2
) = g
| io
11.5 ¢35 depth3 19 10| 1 (Air Inlet
Port(Push))
F 125/ 9
X M5
T 9 66(Total Length of Body) 10 (Air Inlet Port(Pull))
W 19.5 85
w Adjust Bolt at Pull Side M3—18 Adjust Bolt at Push Side M3—18
2
[ N il ] {j’i
'_ = T i by
5 Lock Nut | K Lock Nut
[ I |
16 45
4—@8counterbore
4—¢4.5thru 42
¢37%°depth3 4 ™
Y9 o0 TP O Rt 2
Q
)
l‘ ke
AK ™
hs3
Nall i
5 5 <
Q
EN P
&r &
' ' 10

706




FXTW

FLAT
DIMENSIONS(mm) FXTW8—30 SYMMETRIC
FXTW(S)—GT8—30
Symmetric Stroke
Bore Size
Stroke Adj R I
pf,ﬁfs"}del“?frgﬁ,'; 't Range Lock Nut i | Lock Nut
Push Side- - - -5mm ~ I
i T —]
Adjust Bolt at Pull Side M3—18 Adjust Bolt at Push Side M3—18
195 85
M5
16.5 9 66(Total Length of Body) 10 (Air Inlet Port(Pull))
125 9 M5
(Air Inlet
¢3%5%depth3 |1 |9 10 1 Port(Push))
2-¢8
=
SN = = 2 o
o e o “S‘D)(; g ol . g -
< 8 <« % ) ol 8| ¥| | 3
- Q P S ql = IS o
PN PN B = a
o ; = =
- [ ) <} ﬂ@ﬁK =3 [
o N
10
S 8 g 6.5
S
6 10 33 8
4-M4x0.7depth6 4 g
20 6—M4X0.7depth4
22 25 20
74(Total Length of Table)
o| 0 ]
a 9 T ? |
T ik
- ol o
o
10
—~
‘L\”+ \i/
5 — 5
7 o
o
=]
Q
(0]
/ z
35" depth3 4 %
42
4—g8counterbore
4—¢4.5thru 16 45

TABLE

=
X
T
w

FLAT TABLE

707



DIMENSIONS(mm) FXTW8—-45, 60 BASIC

FXTW(S)-SD8—22

=X

60
T T Length in the () is B0 stroke case.
Basic | Stroke
Bore Size
Stroke Adjustment Range - | | o l
Pull Side----- Smnm mans T
Push Side- - - -5mn o| © : |
| © T
i 0
o
89(104) (Total Length of Table)
22 40(55) 20
20 8—M4x0.7depth4
4—M4Xx0.7depth6 —
4
6 10 e
33 g
8 m% 6.5
0 3o
(@) ol N~
( o WY S ES =
e 2 OO o @ B 2
< < & [ ol s prat
3 (o818 9d oo I
- k=1 =}
© gy 0 @p HIRIE
) = E
- io
11.5 $35%depth3/| 1| 9 208 10| 1 (Air Inlet
Port(Push))
12.5 9
9 81(96) (Total Length of Body) 10 (Air Inlet Port(Pull))
195 100(115)
4
g Adjust Bolt at Pull Side M3—18 Adjust Bolt at Push Side M3—18
'_
<
7 -
o Lock Nut P IR oo

16 60(75)
4—@8counterbore
4—¢4.5thru 57(72)
»3°5%depth3 4

3*5*depth3

iﬁ%
N —~
5 <
06 © 5 Q
N
4@% +Dr
[T}

708



FXTW

FLAT TABLE
DIMENSIONS(mm) FXTW8-—45, 60 SYMMETRIC
FXTW(S)-GT8-42
60
Symmetric I Stroke Length in the () is B0 stroke case.
Bore Size
Stroke Adjustment Range r
Pull Side---- Smm Lock Nut I 1 Lock Nut
Push Side- - - -5mm —_— — M
Hr ol N
!l 1
Adjust Bolt at Pull Side M3—18 Adjust Bolt at Push Side M3—18
19.5 100(115)
M5
16.5 9 81(96) (Total Length of Body) 10 (Air Inlet Port(Pull))
14 125 9 M5
008 (Air Inlet
¢33 depth3 |1 |9 10| 1 Port(Push))
298 | |
(@ nf E
& \ 1 0O il —
© SR i = 2 o)
s | ® (Ko Pe o Yo 2yl 9| 2 -
< < B I« % Y ol £| 5| I 2
¢@> - a @ & al 2 S e o
. = PN = = g
/oy 2 SeOff © B8R £ z
3]
To] S|
P 8 g 6.5
o
6 10 33 N
- T r ®
4-M4x0.7depth6 4 F
20 8—M4x0.7depth4 ?I_(
22 40(55) 20 W
89(104) (Total Length of Table)

w
-
1]
<
-
[
<
I
'8

709

20
185
=
e
H

0
o
0
e D
N \\[ﬁ
56 o S
+Dr
7/ / o)
i N e
=}
Q
(0]
/ L
¢35 depth3 4 %‘;
57(72)
4—@8counterbore
4—¢p4.5thru 16 60(75)




=X

FLAT TABLE

DIMENSIONS(mm) FXTW10—30 BASIC

FXTW(S)—SD10—-30

Stroke

N

Bore Size

Stroke Adjustment Range
Pull Side- -+ -+ 5mn
Push Side- - --5mm

116

ol © ) o o
o by <]
84 (Total Length of Table)
26 25 25 6—M4Xx0.7depth4
4—M4x0.7depth8 |14
6 12 38 2-¢8 2
o
10 8% 0 7
2o N
™
Y 7S L) = =
: o0 o %9 BRERCER
© Q & ‘ | g 5 o
S g @ /(ﬁ ‘ YISl sl 2 s L
0 = ol B D
: © = n| = i
AR @ {%ﬁ s 3 / 2
Hl M. = o
in) o v = 10
[=]
o
. M5
¢3'3% depth3 K 10| 1 (Air Inlet
141 12 Port(Push))
185 11 74(Total Length of Body) 10 M5
(Air Inlet Port(Pull))
225 95
Adjust Bolt at Pull Side M4—20 Adjust Bolt at Push Side M4—20
p:i i N
Lock Nut 2 i ﬁ @2 Lock Nut
—_— "+
| i
1
1
& @
A o
yad ®
Lor
[S AR To]
®37”depth3 4 g
44 B
4—@p8counterbore 50
4—p4.5thru 19 50 *

710




FXTW

FLAT TABLE
DIMENSIONS(mm) FXTW10—30 SYMMETRIC
FXTW(S)—GT10—-30
Symmetric Stroke
Bore Size
Stroke Adjustment Range
Pull Side--- -+ Smm
Push Side: - - -5mn F ]
Lock Nut = Lock Nut
] T K @
Pl I
Adjust Bolt at Pull Side M4—20 Adjust Bolt at Push Side M4—20
225 95
18.5 11 74(Total Length of Body) 10 M5
15 14 14 (Air Inlet Port(Pull))
+003 M5
125 ) @30 depth3 19 101 (A Ilet PortfPush))
© i B—B g @i
7 =, = £ &
0 ©¢' N X ®0 ©° S| ol @ = 1o
o " =| s
O 9 N 8 \\J‘K T P\J-) % 0 ki k N
© € g n 2 a
« PN © 2 3
@ - N ) *@@} =3 8 ©
10 10 2 o 7
o 5| 0
o N F
6 12 38 2-08 5
X X
4 ™ T
4—M4x0.7depth8 26 25 25 6—M4x0.7depth4 W
84 (Total Length of Table)
4
m
<
'_
0 . =
M ! © L —
[1'H e ; Te
o] o i |
T 1
— < 10
19 50
4—@8counterbore ™
4—¢4.5thru 44 s
Pl =
$3°8% depth3 4 B
| ©
bos
N o
0]
P AN
& ©
—

711



DIMENSIONS(mm) FXTW10—45, 60 BASIC

FXTW(S)-SD10-22
60
Basic Stroke Length in the () is 60 stroke case.
Bore Size
0
Stroke Adjustment Range — < —
Pull Side----- 5Smm | |
Push Side- - - -5mn rq‘, i [
™ LD 1T ] |
q C—U [*)
99(114) (Total Length of Table)
26 40(55) 25 8—M4x0.7depth4
4—M4X0.7depth8 25
6 12 38 4 | 2-¢8 @
RV g
o 10 Slw 7
d So| N
o (8]
B W7 S L2y ] =
o %} [Fo 0 B o0 9 = g K s
Q)L © o 5 T 0| 5 5 o
™ o \é - '; | @ Vad NSl =]
ITe] 0 ® ~ SOl m 2
f H = ol = ;
© oy 0 o° 8o NEHELAr
© 7 B{b 5 @l
o
(7]
M5
125 | ¢ 35%depth3 119 10| 1 (Air Inlet
= 15 12|14 Port(Push))
X M5
185 11 89(104) (Total Length of Bod! 10
T a04a)¢ € ) (Ar Inlet Port(Pull))
225 1100125
W e
4
g Adjust Bolt at Pull Side M4—20 Adjust Bolt at Push Side M4—20
'_
]
<
T i T ~
Lock Nut ~ [>¢ 1 Lock Nut
= ]
1
— -
Y -~
©r ©
S o P & o
e S e ™
Loy
(]
936 depth3 4 < ©
Q
59(74) 3
4—@8counterbore 8.
4—p4.5thru 19 65(80) K

712




FXTW

FLAT TABLE
DIMENSIONS(mm) FXTW10—-45, 60 SYMMETRIC
FXTW(S)—GT10-22
60
Symmetric Stroke Length in the () is 60 stroke case.
Bore Size
Stroke Adjustment Range
532553;112222 Lock Nut — EI Lock Nut
_— = }
H—T =
Adjust Bolt at Pull Side M4—20 Adjust Bolt at Push Side M4—20
225 110(125)
185 11 89(104) (Total Length of Body) 10 M5
15 14 14 (Air Inlet Port(Pull))
+003 M5
125 ) @30 depth3 119 10 |1 (AT Ilet Port(Push)
o o g
i [ 1 2 g
VN iy = £ &
o N oD o 06 B0 8 |olE «
ITe] b ¢ Nl 9 Sl @ =
0| <« o Yy 0| £ 0|8
Y~ ® A 5 = = [N
O \ = I Y
O E oy f1 9° 811 5 2
10 10 2w 7
o sl N
6| [12 38 4||| \| 298 g
25 e )F(
4—M4Xx0.7depth8 26 40(55) 25 8—M4x0.7depth4 T
99(114) (Total Length of Table) W

23
215
=
.
[ )
4:\:
FLAT TABLE

- ‘ <[ 10
19 65(80)
4—@p8counterbore ™
4—¢4.5thru 59(74) S
Q.
#3'8% depth3 4| 5
2| 5
2\*’* N
5 o
¥ ®
P PN
@ @
—

713



=X

FLAT TABLE

DIMENSIONS(mm) FXTW15—30,45 BASIC

FXTW(S)—SD 1530
Ll
Basic Stroke
Bore Size
Stroke Adjustment Range

Pull Side -+ -+ Smn
Push Side- - - -5mm

Length in the () is 45 stroke case.

ol © 10
0 o ©
N |
95(110) (Total Length of Table) M5
6—M5x0.8depth6  (Air Inlet Port(Pull))
4—M5X%0.8depth10 g
8 15 g 6.5
o
0 so| 10
© < N ©
GY[E BER:
5 o
ol s & | %
o) 0| | @ = 9 £ o]
© T o g © B 0
3 ©
o
i
19
N
»475% depthd 1 10
M5
(Air Inlet
Port(Push))
29.5

Adjust Bolt at Pull Side M5—25

Lock Nut

045 depth4

4—¢10counterbore
4—¢5.5thru

Adjust Bolt at Push Side M5—25

N

714

Lock Nut
©
™

T~

=

(o}

Q

o

3

o

<




FXTW

FLAT TABLE
DIMENSIONS(mm) FXTW15—30,45 SYMMETRIC
FXTW(S)—GT15-30
45
Symmetric Stroke Length in the ( ) is 45 stroke case.
Bore Size
Stroke Adjustment Range
Pull Side----- Smm
Push Side- - -5mn Lock Nut —-1 Lock Nut
H I e
Adjust Bolt at Pull Side M5—25 Adjust Bolt at Push Side M5—25
29.5 105(120) M5
25 13 83(98) (Air Inlet Port(Push))
185 14 2-¢10
¢4'3% depth4 113 14 |1 10
7 —_
/ 2
{ D - i [ m
[ S S/ 5
— T~ — c
Z FESVN = B
8 ¢ 2 g \ {i} e 5 o = 7 W
© ol B I @ w| gl © B w
Q o = L
o c,?*\ 5 ] & g n
B CHPN e
@ - \“4,; 6}{) NZA 3 R ©
[To] 12 o] ©
o 5l N
8 15 41(45) ] F
1=
5 65 Y
4-M5x0.8depth10 35 < T
26 [25(40) 35 6—M5X0.8depth6 (Air Inlet Port(Pull)) W
95(110)(Total Length of Table) w
o]
<
'_
- =
o| v o 10 3
(v} % © T
| Lyl
i i
4—¢ 10counterbore 22 55(70) s
4—¢5.5thru 43(58) a
Q
45" depth4 5 5
2
N S
N2 &
e Ho 8
AN N
{@7 &
L

715



=X

FLAT TABLE

DIMENSIONS(mm) FXTW15—60, 80, 100 BASIC
60
FXTW(S)—SD15— 80
T 100
Basic Stroke
Bore Size
Stroke Adjustment Range
Pull Side--- -+ Smm —
Push Side- - - -5mn 5 o T
i i
o| 0 ; ; 0
0 2 & h ©
TA(Total Length of Table) 5
26 TC 35 8-M5x0.8depthé  (Air Inlet Port(Pull))
35
4-M5x0.8depth10 |5 !
8 15 45 S 6.5
i
10 12 go| 10
o N ©
0 I D B O n @ 2 |3 |p
0@/F [ © & - )
8 [so R I To] Q g s
ey
@ o | § : 5 8 8 &
© © e =
TS e N
B \ ) LE,
! O 0
10
\ [
948 deptha/ | 1)13 141 |10
185|114 2-9010
13 BF M5
(Air Inlet
29.5 L Port(Push))
Adjust Bolt at Pull Side M5—25 Adjust Bolt at Push Side M5—25
S -
Lock Nut 1 Lock Nut
Stroke |BB|BF| L |TA|TC|ZB
B0 | 85[113(135(125|55| 73
80 [105[133(155(145| 75 | 93 —
100 [125]153[175(165/95(113 .
“4N 4
©r &7
5 ©
i 0]
L&y £ N
®4'8% depth4 5 N
Q
@
4—¢ 10counterbore ZB 2
4—¢5.5thru 22 BB o

716




FXTW

FLAT TABLE
DIMENSIONS(mm) FXTW15—60, 80, 100 SYMMETRIC
60
FXTW(S)—GT15— 80
100
-
Symmetric Stroke
Bore Size
Stroke Adjustment Range
Pull Side-- - 5
Push Side. ..o Lock Nut — Lock Nut
H I e
Adjust Bolt at Pull Side M5—25 Adjust Bolt at Push Side M5—25
29.5 L 5
25 13 BF (Air Inlet Port(Push))
185 14 2-¢10
®4'%° depth4 1113 14 (1 10
7 =
- / =
; Il m| ®
i) / i e
F——1 TN = =
13 = =
i [sQ o [ [P rome 7,8 ],
g ™ £ © T Ire}
,;@,8 0| © pa g 3 B 1
~ s n
10 — ©) £ 3
[E\E O n 0© 8¢ 2 e [
Te] 12 <
(o] £ U,\3 ©
8 15 45 3
I k=l
s & 65 [N=
4—M5X0.8depth10 35 M5 X
(Air Inlet T
26 TC 35 Port(Pull)) W
TA(Total Length of Table) 8—M5x0.8depth6
w
|
m
<
= -
0 0 =
] © : ° © g
i Tt *

Stroke |BB|BF| L |TA|TC|ZB
22 BB 60 | 85[113[135[125|55| 73

4—¢10counterbore h
4—p5.5thru 7B B 80 |105]1331565[145| 75| 93
W 5 3 100 [125(163[175[165|95(113
o o
el
N N
L\”7 N
N ©
9]
a5 s
& &
L

717



DIMENSIONS (mm)

FXTW20—-30, 45 BASIC

FXTW(S)-SD20-39
T 45
Basic Stroke Length in the () is 45 stroke case.
Bore Size
Stroke Adjustment Range
Pull Side----- 5nn
Push Side- - - -5mm - ) ) [Te] |
T
il i p—
o0
(v] 8 ] j
111(126)(Total Length of Table)
26 35(50) 40
40 6—M6X1depth10 M5
7 10 (Aiir Inlet Port(Pull))
4—M6X1depth12 46.5(52.5) 2-¢13 é 6.5
o
9 20 14 3
0 So
o ~ [o"]
+) -G £ ) = \\)
K O §° 51 |T
o ¢ 5 | =@ ©
8wl |8 { 3lE|_| 2
=]
Ibq o g) T O § |':
Z © ® e =
0O O 2 |z
—] =
(9| [H =
= —- B 3
X -
T 065 depths 1119 20 |1 125
w
265 (14 5
w 15 97(112) (Air Inlet Port(Push))
g‘ 375 124.5(139.5)
'_
'E Adjust Bolt at Pull Side M6—35 Adjust Bolt at Push Side M6—35
o
]
H1 B —
Lock Nut — Lock Nut
10
o
=
Q
[0
i
AN 71‘\\ EO
@ &
o o
®
0
Q o
676 depth5 |
$60 depthS o |7y
5 [os]
4—@ 1 3counterbore
4—¢6.5thru 25 65(80)

718




FXTW

FLAT TABLE
DIMENSIONS(mm) FXTW20—30,45 SYMMETRIC
FXTW(S)-GT20-30
45
Symmetric |  Stroke Lengthin the () is 45 stroke case.
Bore Size
Stroke Adjustment Range
Pull Side--- -+ 5mm
Push Side- - - -5mm
Lock Nut Lock Nut
AT A
Adjust Bolt at Pull Side M6—35 Adjust Bolt at Push Side M6—35
375 124.5(139.5) V5
32 15 97(112) (Air Inlet Port(Push))
255 14 2-013
¢6°%*depth5 1119 20 |1 12.5
) ) i [ ?
DL n) T @
== e Q 5 = ‘5
© DDoe H° 305 T
g o @ 0 g Bl —| = l,:
Al ol o ® Y ol g| 9
YT ® T} o 2 b
& \ J 5 B 5 O
o] AN 3 =2 &
@\« ool B SHE o .
o 9| 20 14 o™ © X
© E=S
46.5(52.5), 3 6.5 T
k=]
4-MBX1depth12 70 g w
40 Vs "
26 | 35(50) 40 6—M6X1depth10 (Air Inlet Port(Pull)) c—n‘
111(126)(Total Length of Table) li:
[
<
—
= *
o 2 )
(v} g =— — 0
L“'JTJ ; i[';%
— ' ' g !
4—@13counterbore 25 65(80) &
4—¢6.5thru 7 g
s
[o"]
+008 =
h
®6'0 depthb Jr\E)\‘)’
o (e}
N ©
0
o =]
AN N
N Z

719



DIMENSIONS (mm) FXTW20—-60, 80, 100 BASIC

60
FXTW(S)—SD20— 80
100
—_
Basic Stroke
Bore Size
Stroke Adjustment Range
Pull Side:- - - - Smm —
Push Side- - - -5mn | | 0]
1T 1T
e N
m| ©
(v] 8 © ]
111(126)(Total Length of Table)
TA(Total Length of Table)
26 TC 40
40 8-M6x1depth10 V5
7 0 (Air Inlet Port(Pull))
1T c
4—M6X1depth12 52.5 2-¢13 § 6.5
9 20 14 2
o o™ ©
NP = = |
o & O & ) = c iR
a N ZEN e @° 2 |8 ey
3|l | 8| T 88|z
=S| —| s
) © z| o8 R
2NN © 13
(D¢ & e I
e = B g
X
T $6'5" depth5 1119 20 |1 125
255 (14
w V5
15 BF (Air Inlet Port(Push))
w
3 375 L
g
- Adjust Bolt at Pull Side M6—35 Adjust Bolt at Push Side M6—35
2
=T
i gy
Lock Nut Lock Nut
Stroke [BB|BF| L |[TA|TC
60 | 95/127|164.5|141| 65 1
80 [115]147|1745|161| 85 ‘é
100 [135[167/194.5(181{105 5
AN N
@7\ N
(o] o o
[o9)
0
Q Q
®6°5° depths 1’-/@\7\ Fesy
2 [o9]
4—¢ 1 3counterbore
4—¢6.5thru 25 BB

720



FXTW

FLAT TABLE
DIMENSIONS(mm) FXTW20-60, 80, 100 SYMMETRIC
60
FXTW(S)—GT20— 80
100
_
Symmetric Stroke
Bore Size
Stroke Adjustment Range
Pull Side----- Smm
Push Side----&m  Lock Nut Lock Nut
H ==
Adjust Bolt at Pull Side M6—35 Adjust Bolt at Push Side M6—35
375 L
M5
32 15 BF (Air Inlet Port(Push))
255 14
6% depth5 1119 20 |1 125
— 3 !
— g B 8| 1o
oy = G
G o o0 2] |2
10 < b 2 ~
5| —
© ol 8] 2w ol £ ?| & ~
(v] o © = k=1
B e
I\ 2 © e 3
o o—>o o {gfq 3| |¢
0 14 N [o]
o £<] F
52.5 2—¢13 2 6.5 X
o
4—M6BX1depth12 7 8. T
40 M5 W
26 TC 40 8—-M6X1depth10 (Air Inlet Port(Pull))
TA(Total Length of Table) z_.j
<
'_
[
= <
[e9] b o L
™ % 0
T T
I I
- o Stroke [BB|BF| L |TA|TC
o5 BB %’1 60 | 95[127(154.5(141| 65
4—@13counterbore 5
4—6 5thru - B 80 [115147|1745]|161| 85
T So 100 [135]167|194.5(181{105
[os]
+0.03
®»6 ¢ depthb ‘L\Q\*
o o (]
\m @
0
o Q 0
AN AN
*SD/‘% O

721



SWITCH SETTING POSITION

HSetting Position

2ail i k;ﬂ ,
ol i
(D] I=] I
[(]1S] |
A B
RB(RC) 1, 2 Switch Unit: m RB(RC)4, 5 Switch Unit: m
Switch Setting Position | on Hod Distance | Hysteresis Switch Setting Position | n Hoid Distance | Hysteresis
Model A B (2) (©) Model A B (o) ©)

FXTW 8 4 31 9 FXTW 8 6 29 3
FXTW10 12 31 10 1 FXTW10 14 29 35 1
FXTW15 19 32 13 FXTW15 21 30 4
FXTW20 32 33 12 FXTW20 34 31 4

Explanation of hysteresis and on hold distance. 1% see Switch Catalogue

HESwitch Installation

Nut

Loosen the fixing screw to move the switch along
the axis. Adjust the switch to the appropriate
position while checking the switch operation using

Fixing Screw M2.5X6

F the indicator. Then tighten the screw with 0.3N'm
X of torque.
T
w
3
g
=
S DIRECTION OF MOVEMENT BY PRESSURE PORT
FXTW 8 FXTW15
FXTW10 FXTW20
A

Direction of the ﬂ Direction of the
Table Travel Table Travel

Pressurized Inlet Port

722



FXTW

FLAT TABLE

Costom made
Contact us for how to order, time to delivery and detailed specification.
Threaded Hole with Helical Insert----Model with the threaded holes for mounting a load
in the table top side provided with helical inserts.
Note: It is not possible to add helical inserts to an already purchased product.
Helical Insert Material: Stainless Steel

Threaded Hole with Helical Insert Threaded Hole with Helical Insert

(Front Side) (Top Side)
| | | i
B
& &
o AN _HO @4
D 9

= &l

Size of Threaded Hole with Helical Insert
Threaded Hole with Helical Insert
Front Side Top Side
FXTW 8 M4 depth 6 | M4 depth4
FXTW10 M4 depth18 | M4 depth4
FXTW15 M5 depth10 | M5 depth5
FXTW20 M6 depth12 | M6 depth9

Model

=
X
T
w

HlTo change grease

@Change the grease of bearing part to the other grease.

@There is a case might not be handled depends on kind of grease or request.
@Cylinder part is lithium soap grease or fluorine grease.

@Grease of purchased item can not be exchanged.

FLAT TABLE

Please ask us for more detailed infomation.

723



EMEMOR

724



EMEMOR

725



EMEMOR

726



